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Juestion Label - Comprehension
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Sub questions

Question Number : 57 Question Id : 723053675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofe 2011 3t 2012 & F9r E &7 =07
TATT o7, aF FH: 3U I8 F FI4r Fr HT
T I AT AT?

Options:

% 8 : 11
% 9 :10
x 29 : 31

v 28 : 31

Question Number : 58 Question Id : 723053676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Sub-Section Number: 4
Sub-Section 1d: 72305349
Question Shuffling Allowed : Yes

Question Id : 723053677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension
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Sub questions

Question Number : 59 Question Id : 723053678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

% 19.8%

% 20.4%
« 20.8%

% 21.2%

Question Number : 60 Question Id : 723053679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
« 18
% 22
% 24
% 29
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Section Id : 72305334

Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 72305350
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 723053680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct synonym of:
oration
Options:
% aftraction

% dialogue
»~ Speech

% silence

Question Number : 62 Question Id : 723053681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose the appropriate antonym of:
avoid

Options:

« seek

» dodge
% kill

% discover



Question Number : 63 Question Id : 723053682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of the underlined word to fill in the blank.

It looked as if the answer to the quiz question was obvious but it turned out to be

Options:
% persuasion

» ambiguous
% predictable

« transparent

Question Number : 64 Question Id : 723053683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the correct word.

The match was quite boring as we could easily predict who would be winner.
Options:

# an

# some

« the

# 4

Question Number : 65 Question Id : 723053684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word/s.

Did your college in the university tournament?
Options:
% are participating

% participated

% participating



» participate

Question Number : 66 Question Id : 723053685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate word.

On Sundays I have my breakfast in bed and spend the morning relaxing with a book.
Options:
» Irequently

» usually

% gradually

% rapidly

Question Number : 67 Question Id : 723053686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect word
or phrase from the given options.

One who desires wealth and property from God is not a devotee but a slavery of wealth and property because, to him, God
is only a means to an end.

Options:
% One who desires

% nhot a devotee

» slavery of wealth

% means to an end

Question Number : 68 Question Id : 723053687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the incorrect
word or phrase from the given options.

It was a near- impossible mission, and once more fate handed me a failure when I could see the finish line and
expect to win.

Options:



% once more
% handed me
% I could see

» €Xpect to win

Question Number : 69 Question Id : 723053688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passive voice form of the given sentence.

My colleague and I decided we would continue our efforts to conquer the seas.

Options:
% My colleague and I decided we would be continuing our efforts to conquer the seas.

% My colleague and I decided we will continue our efforts to conquer the seas.
» It was decided by my colleague and me that we would continue our efforts to conquer the seas.

% It 1s decided by my colleague and me to continue our efforts to conquer the seas.

Question Number : 70 Question Id : 723053689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the most appropriate indirect narration for the following sentence.

Ravi said, “Do you understand how difficult this job is? I need at least four team members to complete it within five days.”

Options:
Ravi said if he understands how difficult this job is? He said he needs at least four team members to complete it within
five days.

® 3

Ravi asked if he understood how difficult that job was and further said he needed at least four team members to
 complete it within five days.

» Ravi asked do you understand how difficult this job is? I need at least four team members to complete it within five days.

Ravi says, “Do you understand how difficult this job is? I needed at least four team members to complete it within
w five days.”

Question Number : 71 Question Id : 723053690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Choose the best option to combine the given sentences.

Ritu felt very offended. She stopped talking to her friend.
Options:
» Ritu felt so offended that she stopped talking to her friend.

% Ritu felt very offended that she stopped talking to her friend.
% Ritu felt too offended she that stopped talking to her friend.

% Ritu felt very offended because she stopped talking to her friend.

Question Number : 72 Question Id : 723053691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passage that is correctly punctuated.
Options:

It was very dark and windy. Aastha saw the dark clouds and shouted Mother! It’s going to rain. Let’s run indoors
« quickly.

It was very dark and windy, Aastha saw the dark clouds and shouted, ““mother it’s going to rain. Let’s run indoors
« quickly.”

It was very dark and windy. Aastha saw the dark clouds and shouted, ““Mother! It’s going to rain. Let’s run indoors
 quickly.”

It was very dark and windy. Aastha saw the dark clouds and shouted, “Mother! Its going to rain. Let’s run indoors
« quickly.”

Question Number : 73 Question Id : 723053692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the word that is correctly spelt.

Options:
% imediate

w grammer
% recieve

« lTelevant



Question Number : 74 Question Id : 723053693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate idiomatic expression.

Why are you ? You paid no heed when yvou were warned so many times.
Options:
% chicken- hearted

% beating about the bush
» crying over spilt milk

% giving vourself airs

Question Number : 75 Question Id : 723053694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate idiomatic expression.

Virat Kohli is most batsmen in the world.
Options:

# hard and fast

« head and shoulders above

% keeping an eye on

% leaving no stone unturned

Sub-Section Number: 2
Sub-Section 1d: 72305351
Question Shuffling Allowed : Yes

Question Id : 723053695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions based on it.

My only work is to give you a clear-cut idea how you can become more
conscious; I call it meditation. Working, walking, sitting. . . . I don’t
believe what others call meditation; that for ten minutes or 20 minutes you
do it and then just be your ordinary self for 24 hours and again meditate
for 20 minutes. It is like asking a person to breathe every day for 20
minutes and then forget all about it, because the person has to do many
other things! And then next day she/he can breathe again in the morning!
To me meditation is exactly like breathing. So whatsoever you are doing
and wherever you are, do it more consciously.

Just try for few minutes to walk consciously: be alert at each step and you
will be surprised that the quality of your walk is totally different. It is
relaxed. There is no tension and there is a subtle joy that is arising out of
your relaxed walking. And the more you become aware of this joy, the
more you would like to be awake.

Eat with awareness. Thirty million people in America are suffering from
overeating. Strange world we are living in; men are dying every day in
Ethiopia because they don’t have food, and millions are dying in America
because they have too much food. These people who are suffering from
obesity cannot resist eating. No doctor is going to help them, unless they
become aware, while they are eating. They have to be aware that a man of
awareness eats only as much as his body needs. He immediately feels that
now there is no need, the hunger is gone. he is content.

Sub questions

Question Number : 76 Question Id : 723053696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence by choosing a suitable
option.

The writer believes that meditation
Options:

. 15 a process that requires consciousness
% can be done only when you are walking

% heeds to be done for only 20 minutes a day

% ust be done many times during the day

Question Number : 77 Question Id : 723053697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



Choose the most suitable option to complete the
sentence given below.

‘When meditation is done with awareness, it:
Options:
% makes vou a forgetful person.

% 13 painful and tedious.
% 1S quite time consuming.

» Zives a great deal of satisfaction.

Question Number : 78 Question Id : 723053698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the most suitable option to answer the
question given below.

What is the irony of life mentioned by the writer?

Options:
» Many Americans are dying due to overeating

‘While some people die of hunger. others die of
» overeating

» Many people are dying in Ethiopia

% Awareness 1s essential but it has no effect

Question Number : 79 Question Id : 723053699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the most suitable option to answer the
question given below.

What should you NOT do if you are obese?

Options:
% Consult a doctor

» Be led by your love for food



» Eat only what your body needs

» Resist eating too much

Question Number : 80 Question Id : 723053700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
One who is is an aware person.

Options:
» terribly overweight
» always alert

« always tense

% eats unconsciously

General Hindi
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Group Id : 72305335
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Question Id : 723053701 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
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Sub questions

Question Number : 81 Question Id : 723053702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

TUTYT 6T s &

Options:

, SO AT 9fT &

, TR §1 wafer &
. difew 79/ &

, At Tt # 39 &

Question Number : 82 Question Id : 723053703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 83 Question Id : 723053704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 84 Question Id : 723053705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TefeeTa e &l T 91 9T &

Options:
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« Tamerar

Question Number : 85 Question Id : 723053706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 723053707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 87 Question Id : 723053708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 88 Question Id : 723053709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 89 Question Id : 723053710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 90 Question Id : 723053711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘AT AT F CEERC] (HfFrsrfEFa) gem:

Options:
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Question Number : 91 Question Id : 723053712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 723053713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 93 Question Id : 723053714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
w HEl

% I
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Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 94 Question Id : 723053715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 95 Question Id : 723053716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 96 Question Id : 723053717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 97 Question Id : 723053718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 98 Question Id : 723053719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fafeaf@a aar A8 gy # s
Options:

w Fell T T AY F AL =T

T gAY =X T4 HEAH T



« 3T 30 e =fgo)

. AY T SHHT 3cal T T

Question Number : 99 Question Id : 723053720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 100 Question Id : 723053721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 101 Question Id : 723053722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 102 Question Id : 723053723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 103 Question Id : 723053724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 104 Question Id : 723053725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25
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Options:

« bb
% 25
% 35

% 45

Question Number : 105 Question Id : 723053726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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« n(ANnB) —n(A) + n(B)

Question Number : 106 Question Id : 723053727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 107 Question Id : 723053728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 108 Question Id : 723053729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 109 Question Id : 723053730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 110 Question Id : 723053731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A @fT n(U) = 20, n(A) = 12, n(B) = 9 sk n(AnB) =4 g‘rr—ﬂn(g) T T FAT 7
Options:

& 8

# 11
% 17

® 3

Question Number : 111 Question Id : 723053732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT AT R T T T A= 2346} F A xy o ma ¢ s F sfenfka t &
3efRa geAt &1 ve wEee Fw w9 & e

Options:



»1(2.2), (2,4), (2,8), (3,3), (3,8), (4:4), (6,6)}
« {(24), (2,6), (3,6), (4.6)}
« {(24), (2,6), (3,3), (3.6), (4.6)}

« 1(24), (2,6), (3.8), (4.2), (4,8), (6,2), (6,3)}

Question Number : 112 Question Id : 723053733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
e == A= {w,v,w} F1 FF==9 B = {x,y} # | F @@ w1 aer grefi?

Options:

% 6
% 16
% 32

« 64

Question Number : 113 Question Id : 723053734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A Ao A = Z\{0} st s quitet & = @ EAaT g1 A afee & AxA o Ue §EY §
St (a,b) ~ (c,d) zarr afenfda &1 afe ad = be at =~ Far gem?

Options:

. TIded, ARG Ak TFHEE TE

, TIded, WHHF Afehd HAAT T
_, WAIET Fay

Question Number : 114 Question Id : 723053735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



AT #feT R = {(Lu). (1.v). 3.v), 3.x), (4.v)} g@mr aRefa R Bl ®qeaa A= {1234} &
TH=IT B = {uv.wx} H U FEugl d R & S 3N I FH &0 g
Options:

» 11.3.4} {u.v.x}
« 11,2,3,4}; {u,v,w,x}
« 11,3,4}; {u,w,x}

« {1.2,4}; {u.v.x}

Question Number : 115 Question Id : 723053736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT AT R = {(1.1). (1.2). (1.3). (2.4). (3.2)} 3 S = {(1.3). (1.4). (2.3). (3.1). (4.1)} foreir TWog==Tr
A=1{1234) X 9= g a R I S & TESH SoR F AT AT g7

Options:

« {(1.7), (1,3), (1,2), (2,7), (3,3)}
« {(1.2), (1,3), (1,4). (2,7), (3,3)}
2 A(11), (1,3), (1,4), (2,7), (3,3)}

« {(1.1), (1.2), (1,4), (2,7), (3,3)}

Question Number : 116 Question Id : 723053737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

I == A # m 3R == BH n GO df A FT B # Fol Gorall $ TEAT foraat gem?
Options:

% m"

Question Number : 117 Question Id : 723053738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25
AF e A={1.23) @3N AFAAFTA fAF (1) = 2.f2) =13k f3)=3=
afenf¥a g & wored [ 1 SgohH FaT grem?

Options:

« (1, 2), 2, 7), (2, 3)}
2101, 2), (2, 1), (3, 3)}
« (1. 1), (2, 7), (3, 3)}

« (1, 2), 2, 2), (3, 3}

Question Number : 118 Question Id : 723053739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FEn(A)=33R n(B)=35, a7 A ¥ B Fr 7RNT = TFa T Tk (SASFH) oAl BT TEAT F4T
g

Options:

% 120
% 40
« 60
% 30

Question Number : 119 Question Id : 723053740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
g x & it 3T A & T Goe S 2f(x)—3fe)=x2aﬁﬁgﬁzm?#rf(2) FT A
FT glem?

Options:

—7
« 4

% 4

% —2



i:\.

Question Number : 120 Question Id : 723053741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

O AT &7 T & gC 2+ 548 +...+ (3n—1) & A farearr ammar 872

Options:
n(n+ 2)
% s
n(3n+ 1)
v 2
n(3n—1)
% 2
n(2n+ 1)
% 3
Subject Related
Group Number : 7
Group Id: 72305337
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Subject Eelated
Section Id : 72305337
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 72305355
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 723053742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
IO HIETH & F3T I g€ 1° + 27 + - n® 1 A FAT FEM?
Options:
n*in? + 1)
% 4

n(n+1)2n+1)
% 6

n’(n+1)?
v 4

n(n+ 2)
#* 4

Question Number : 122 Question 1d : 723053743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FHOT X +y +2z =15 F@ 20,y =20,z=20 F 0 quiie gell & TE&ar = gei?

Options:

% 6
% 1
# 15

v 136

Question Number : 123 Question Id : 723053744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘MATHEMATICS” efee & 37T T 9gFd Fd §T W Fo e AT FTAY AT HFS & S T ¥ IR
FT T T & g &7 819 27



Options:

« 37,528
« 80,720
, 90,720

% 20,860

Question Number : 124 Question 1d : 723053745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ol Gm + 1) I5gat # & m TGt & T F et Fr e g @eh Tt @ m gaww § 3k
(2m + 1) f&farse &2

Options:
% 2m+2

% 22(m+1}

w20

& 22111

Question Number : 125 Question Id : 723053746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
1000 & B 7 a1 11 & Renfaa g= arer a=acrws quiter $T gear fFaer gef?

Options:

% 120

% 210
v 220

% 240

Question Number : 126 Question Id : 723053747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

10 F=4l & SeAfea I # 12 et # Faia &= & Faa alds & doa 82




Options:

% 48 TIF
» 55 T+
% 56 Ak
% 45 TqF

Question Number : 127 Question Id : 723053748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Rvw 3 & oo A3 a1 Rrae ST s wedr 8, o R ofr 3 6 ety Ad av
Options:

% 240
% 160
x 128

« 320

Question Number : 128 Question 1d : 723053749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
"COMPUTER" 2Teg & 3&7{l &7 §&AT & 3R W FHHA=ET HF T&AT 915 A7 Fohal gl

Options:

, 40,320

% 5,040
% 10,080

x 720

Question Number : 129 Question 1d : 723053750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
4 ISTIT-3TAT el (F1F9) F 20 TA a5 # Faka == F s Fr g F7r e 3T Fg o
FFH TTell 78T 72

Options:




% 696
« 969
% 52

% 323

Question Number : 130 Question Id : 723053751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T e B W 7 [ HR 7 AR e 30F ¥ 35 Tha § I FE o 2 A w Ay 7 32

Options:

% 7! x 7! i
% 6! x 6! T
% 6! i

» 6! x 71 ais

Question Number : 131 Question Id : 723053752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
[1+2i}3 + - F e
maﬁrgﬂﬁﬁam#ma + ib 7 BT 9 ¥ ged FE7

Options:

LF)+6G



Question Number : 132 Question Id : 723053753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

'»Fl'fﬁ'&l’ . {1+ 2i)

[1-(1-1)?]
Options:

® 0O

T AT AAH FT FEM?

|

0

Question Number : 133 Question Id : 723053754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Gﬁﬂm(

Options:

1 T . |
—(CDS— ! o B —)
2 2

2+i
3—1

2
) T AT TR FT A7

® 2

T . - T
cos— + 1S8In
4 4

)
)
)

| ol

T . i
(cus—— 151n—
4
T e v T
cCos—+15In—
2 2

Question Number : 134 Question 1d : 723053755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

af@der g&ar (1 — cos o) + isina &1 A FIT EET?
Options:

% 2sin a

2sin (g)

{:?



o sin G)
. COos (g)

Question Number : 135 Question 1d : 723053756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
104 — 30° & JAITR F&&T Fus arT Asrer Jreer?

Options:

» 5v3 — 5i
% 5V3 + 5i
% —5v3 — 5i

%« —5v3 + 5i

Question Number : 136 Question Id : 723053757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofg (E)n =1 g 3 ~g7d® YcHS qUiieh 1 &1 grem?

1+i

Options:

® 2
% 1
v 4

% 3

Question Number : 137 Question Id : 723053758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
forr avifs v & R wAfE & T oMY (1 +1V3) ¢ 3R 77 AW & R 5w e 5 P
* Tgd & Fg W gl B F 3w ofdl & wffs gew & B Ry 9w @ gem?

Options:



20—
= 0198 F-—i3
& 2 2:00: 3 —3

« V3 +i0:1 —iV3

Question Number : 138 Question Id : 723053759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ar fga afFs et & 3 3R qUEed A 4 AR 8 § A FEAT Far g

Options:

w128 321
w 235 2 —3i
w3 2L L— 21

P

Question Number : 139 Question 1d : 723053760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ilﬁ;arg(z—FZi):E,arg(z—Zi) :%‘T g1 &1 z & AT FAT gE?
Options:

% 0

% 1

o 2

% —1

Question Number : 140 Question Id : 723053761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
I w R sFg 1 TN gwAe & a (1 — w)® FT 71 F27 gem?

Options:



% 0

o =27

% —9

% 6

subject Related

Group Number : 8

Group Id: 72305338

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

subject Related

Section Id : 72305338
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section I1d: 72305356
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 723053762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

faTder AT Irer AT 3|2x + 6] < 42 F g +i

Options:

%« x €(-10,2)



« x €(-5,4)

sx €(-10,4)

Question Number : 142 Question 1d : 723053763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3@ [x + 1] + |x| > 3 & gwfag #A= F4r g

Options:

% X & (—00}—2)
% X & (1}00)

% X € (—o0,—1) U (1,0)

Question Number : 143 Question Id : 723053764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FaBERt & M — > 025, —— < 05 & TesT § = 5w 27

6
2x+1 4x—1

Options:
xx<—05 AT x=05

« x € (—0.125,0.25)
o FE o g

%« x € (—=05,05)

Question Number : 144 Question Id : 723053765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ﬁaﬁ-amﬁmﬁwmmﬂmﬁ?a3+b3+c3,mmm, FEra.b.c>03lra+b+c=37
Options:
» 3 & T I T



% 4 F ST A FA
« 4 F T3

%2 U FA

Question Number : 145 Question Id : 723053766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ggie @A f(x) = (x+ D(x—2)?(x+3) = 0 T ToT FT g7
Options:

s X €[-3,—1]

Question Number : 146 Question Id : 723053767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
8

of %+x2£ogwx % F 9T IR H Ter 9g 5,600 g I x F AF F4T gEm?
B
3

Options:

e
« V5

« 10

Question Number : 147 Question Id : 723053768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ai_%mr(53+ 25) 100 % fear & 9fF T @eaTes) iR 3@ eaEeatas) e &r 56T FA F74r
grem?

Options:



s 4, 97
« 6, 95
« 8, 93

% 15, 86

Question Number : 148 Question Id : 723053769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(1+x)*°, ¥ g Rrar 7 37 20 ot # A7 F=r gem I feer & x ¥ o9 3RE F7 A g0
Options:
% 217

Question Number : 149 Question Id : 723053770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
S 22990 Fy 17 ¥ RS T Frar § 3 99 F =@ F14T geme

Options:

% 9
v 1
% D

® 2

Question Number : 150 Question Id : 723053771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

(3 +2x)%° % gRYET RATaR #§ TN 937 9 FAT FEN, @ x = - ¥?

5

Options:



« HTSaT 9
« OT=ET 9
v Tal I8

w A 9

Question Number : 151 Question Id : 723053772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

uﬁa@gﬁamﬁblfrEE.TE’raﬂTJ(ﬁ)+\](ih)=2+ke)za’ra‘r‘k’a:rm?ra-'maﬁ?rr?

a+

Options:

| b2

®

%
W | L

Ll o

on oL

Question Number : 152 Question Id : 723053773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
AT AT a. b ¢ TAER Aoft # § 3 a?, b2, ¢? Foieaw 4ofr A afg a<:b<;c3ﬂ¢a+b+c:§ ar
ar a &7 AT FIT gEm?

Options:

1
3 2"\.@

1 1
2 3



b

5
=

ral

Question Number : 153 Question Id : 723053774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Hofr V2 + V8 + V18 + /32 + -+ F 24 9ST FT T FAT ZrEM?

Options:

« 200V2
« 500V2
» 3002

« 100V2

Question Number : 154 Question Id : 723053775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FE Aofr, S nar g /(0% + 1) —vn® F w7 F & F=h e
Options:

% HTadr

» HfFardr
% TENT

% O9taeer A

Question Number : 155 Question Id : 723053776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
g log z(x) + log 3.z (x) log 4 z(x) + 7 W& & =35, @ @ x & A FAT g2
Options:

19

x 125



% 25
% 5
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 156 Question Id : 723053777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HRCGIES -ei-:s-uu-ﬁ'aﬁb#mﬁliﬂ?%aﬁ'mmﬁﬂ'%}mG13ﬁTGza}|'?;FUﬂF!TﬂT&'J§HT
L% pafafae # @ e s e

G162

Options:

ab
xa+b

a+b

gab

2ab
xa+b

a+b
% Z2ab

Question Number : 157 Question Id : 723053778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3 5 i
SO 1+ -+ —+ -+ 00 N URT FAT gEM?
Options:

« 3

Ze

i

i
L4

|
[a—

Question Number : 158 Question Id : 723053779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
1 1 )
Sofr cnsx+§f3053x+gc055x+ v 00 T TT TFEF SET BT @ x IEdiEE g7

Options:
% In(1+ cosx)

% In(1— cosx)

o (mt @)
n{un(3))

Question Number : 159 Question Id : 723053780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
; I T | 1. 1 1

AN - — = S+ == — .=+ T AT FAT ZEM?
7 W 4 24

Options:

Question Number : 160 Question Id : 723053781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

x? 22 x* x> ;
-ﬂﬁﬁx—?+?—:+?+-"ﬁmﬁmﬁﬁéﬁ?ﬂ‘?
Options:
2 x < —1



% 1x] > 1
g—lix'ﬂl

% 2< X< oo

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Subject Related

9
72305339
0

0

No

No

0

20

Subject Related

Section Id : 72305339
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 72305357
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 723053782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Ifg ¢ 3R d Ui & AR ¢ = dg + r & FA=ela 7 ¥ #ia @ ey w7 27

Options:

% (c,d)=(d 1)
s n=(d,r)

x (¢, d) = (d, q)



® (C: q} = (d r}

Question Number : 162 Question Id : 723053783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
dre qouiier 105, 140 3R 350 T Fgca® HATIETS FT BIT?

Options:

% 70

« 35
® 5

# 15

Question Number : 163 Question Id : 723053784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ar geTcHS TEETET 252 X 198 #T YFASaA ToRIGH & JII9T Flsh Hgcdd TAMIEdS® Ad &l
F v Rersar r s3fewgs gear #4r gef?

Options:

% 16

% 12
v 4

% 36

Question Number : 164 Question Id : 723053785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TEAT 42833 & HAST IUAGE FAT ZITT?

Options:

/. 21. 218
% /. 21. 288

s 7. 21. 291



7. 29. 211

Question Number : 165 Question Id : 723053786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T T F, = 22 +1 F 9% qET 99 F 67 TR ¥ T O 5 TaT 87

Options:
P i = o |

N i |
x 278k 11

i R |

Question Number : 166 Question Id : 723053787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T FAGET 7x = 22(mod31) & g FT EEI?

Options:
% X = 21(mod31)
% X = 12(mod21)

» X = 12(mod31)

% x =196

Question Number : 167 Question Id : 723053788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TEAT 200 & YA Ui TasT=Ten! &I AT 3R 200 & Tosiafent $r F&AT HaAA FT g2

Options:
» 465, 12
« 435, 21

% 456, 12



% 455, 21

Question Number : 168 Question Id : 723053789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FHRIOT 2(x2+x%)—9(x+3+14=0 F HIE A & T « F aeafaw A= f FE
feha=tr grefr?

Options:

% 4
v 3
% 2

% 1

Question Number : 169 Question Id : 723053790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

R T i & IIEdiaes gar H F&AT haar e

¥t 2 b  xas

Options:

% 2
% 4
x 3

o 1

Question Number : 170 Question Id : 723053791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
THEWT Vx + 9+ V4 +x =5 &F IEdiass gal &7 TET Fhgar gefe?

Options:

% 2

% 0

v 1



® 3

Question Number : 171 Question Id : 723053792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T AT 5 a AHR b wEERT 2 4+px+1=0 F FqF & HT Tg Ff 77 ANAT F ¢ A d
FHEROT 2 +gx+1=0 FT & & (@ —c)(b —c)(a+d)(b + d) & A FaT grm?
Options:

« PP +q°

xD°—q"

VH_?JE 4. q2

x —D° —q°

Question Number : 172 Question Id : 723053793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

A AT a, b 3R ¢ IEaEE TEC s TR ¥ A F a dAR b gus § & mEewr
2(@a—b)x*—11(a+b+c)x—3(a—b) =0 =& AT T FHic &7 ERM?

Options:

« TSR T Fedideh gl

% ITEAE 3T TE=

. O ¥ @ Fealas

v TEIEEH AR FEAE

Question Number : 173 Question Id : 723053794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofe a, b 3R ¢ IEIEF FEOT § ar AT
x-—a)x—b)+(x-b)x—c)+(x—c)x—a)=0 = =1 FqFr F THia Far grEi?

Options:

o FIEATSH



# C
% RUIcHh

. AT H A &

Question Number : 174 Question 1d : 723053795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
THROT x2 — 3kx + 24" = 1 F AT # UG 31 F A FqA T T FA EEM?

Options:

% 2
# b
% 4

« B

Question Number : 175 Question 1d : 723053796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e (74 4v3)" S+ (7-43)" =14 3 = Helt T T FAT gl
Options:

% 2
% 1
4

x 3

Question Number : 176 Question Id : 723053797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HHRIOT x = 12+J12+,j12+---upmm &1 UATHS HIA FIT g2

Options:

® 2



4
% 1

% 3

Question Number : 177 Question Id : 723053798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afe gfaena AT x? — Tx+ k=0 3R x? — 11x+ 2k = 0 F UHAAA HS & aF k & A F47 g2

Options:

Question Number : 178 Question Id : 723053799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
S a+b+c=0 g ar e AR 3ax® +2bx +c =0 &

Options:

o UF HA [—2, — 1] # T g8 HA [1, 2] # g

L TFHA [—2, —1] 7 T ET 7S [2, 3] # g0

& FToTTeIh el grar

, FH W FH Tk F [0, 1] gFT

Question Number : 179 Question Id : 723053800 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



I a, b N c v oA TEmw smyER E F a2+ b2 +c?2 =0 3R

b? + c? ab ca

ab c? +a? be | = k(abc)?, ar k &1 A1 FAT gEM?
ca bc a1+ b’

Options:

4

% 1

® —2

® 3

Question Number : 180 Question Id : 723053801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

5
(18
e . 1
AT a, B iy AT P +px?+q=0, W g+ 0F FF G ar 5
o
¥
Options:
P
% q
1
% P
1
% q
« 0
subject Related
Group Number : 10
Group Id: 72305340
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No

Revisit allowed for edit? : No

Q= T

T QR e

ST ATA FT §RM?



Break time: 0
Group Marks: 20

Subject Related

Section Id : 72305340
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 72305358
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 723053802 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

: sinA cotA 1
afg A.B 3R C e e[t ABC & #10T @ & 028 cotB 1| T AT 4T g2

sin’C cotC 1
Options:
% —4smnAsmnBsinC

0
# 1 +4cosAcosBcosC

% 8 sin A sin B sin C

Question Number : 182 Question 1d : 723053803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

szzmﬁz(an a”)#mfrmma"r Faadsirmad g dhsmt @ v o=

21 dz2
T TSAAT AT e 3, d FEARRT § T Fi9 7 34 TT 2
Options:
% A11822 + 312351 = 0

» A11d2 — 433337 = 0



% Q1877 — Q32337 = 1

% Q18> — @158 = —1

Question Number : 183 Question Id : 723053804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ilﬁ.‘A:(_ii _ii)zﬁTE:(_ll _11),37A3$rm?rmgiﬂﬁ

Options:
% 32B
% 64B
« 1288

% 16B

Question Number : 184 Question Id : 723053805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

eET # ¥ Fi9 & Fu7F 7Tog &2
Options:

» adj(AB) = adj(A) adj(B)
. T det (A) = 0, ar adj (det(A)) = 0

» T 3 X 3 3ET ara AU Afeaw F1 gwss ST Afew & gem

., 390 Ry Aftew # uesa ww Reeia Afgww & g

Question Number : 185 Question 1d : 723053806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T g e x+y=3,1+kx+Q+k)y=83sitrx—- (1 +k)y+(2+k)=0 mea &
ar k &1 AT FIT 2em?

Options:

% 0.1



I M
w” 3
1
_1__
W 3
2
e |
® 3

Question Number : 186 Question Id : 723053807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T gERTT e Ax+y+z=1, x+Ay+z=13dRx+y+lz=1 Tog & at 1 & A9 FaT FTM?

Options:
% 1

% 2
o — 2

x — 1

Question Number : 187 Question Id : 723053808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e fegs % 2 o Fmer (0,5) and (6, 3) & &t swdhr FHiwr (1, —2) & ar Sww oS F2r @em?

Options:

(=3, —14)
« (3, —14)
x (—3, 14)

« (3, 14)

Question Number : 188 Question Id : 723053809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
afE (1.5, 0), (1.5, 6) 3T (— 1, 6) 5 Peisr & &= =it & 7e7 Bg & af s7F aFg F1 @
FIT EE?

Options:



B (3:
b (25
1,

b (2:

1)
4)
2)

3)

Question Number : 189 Question Id : 723053810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
30 fig & fagTy T WER0T FAT NN, S W e qear ¢ F Fg (3,0) FUT (—3,0) ¥ Gy W HW
4 TFS &7

Options:
xz 2
il
v 4 5
xz },2
% 4 5
JL'.'2 yz
% b 6
xz 2
A
% 5 6

Question Number : 190 Question Id : 723053811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
k % fre A= & fow Rg (k2 - 2k), (—k + 1,2k) 3R (—4— k6 — 2k) wx@rw gl

Options:
% 1

o

e

0.5
® 2

v — 1



Question Number : 191 Question Id : 723053812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3T T TW@T T FAROT FT g7 A W@T x = —35 dwx = 75 F wAH g7 W Bwa 2

Options:

¥x =1
sSx =2
% x = —2
#x = —1

Question Number : 192 Question Id : 723053813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3H BIA W1 F FAGIOT F47 g S g (3, 4) § T T § AR $HH BN W IH e Fedl g
f& afymmr A & 7 § wg e § feda 2

Options:
i P el
X 3y =2
g X+ =1
g Xx—y =1

Question Number : 193 Question Id : 723053814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
& AR @At 5x - 12y + 2 = 0 3R 5x- 12y-3 = 0 & A<y & gl #7 grefe?
Options:
|
« 17



Question Number : 194 Question Id : 723053815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3F TS QT F FAGIOT F4T grEm S Y@ x +5y +7=0,3x +2y—-5=0 ¥ yfo=dg g &
Sy 7x+2y—5=0 & gHAST ¥?

Options:

L 7x+2y—20=0
« 2Xx+7y+20=0
w2x—T7y+17 =0

SRy =T =0

Question Number : 195 Question Id : 723053816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

o s ABC &1 w@eIoliT &g & foigenss @41 g, T #ivfwr g s#er A1, 2), B(2, 3) 3k

C(4, 3) &

Options:

% (2, 1)
x (1, 4)
q;f(1= 6}

« (2, 9)

Question Number : 196 Question Id : 723053817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Iig m Tk =W A 3 TN F THE 1 AT F1 gET A Y -308T T T 0d sed<e (Fia=oa)
c =7 fFAT Fa 22

Options:

g Xx=my=xc




Question Number : 197 Question Id : 723053818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ks aaFsRcwa @y = x + k &réq—cr(f)2+(§)2=1 FI T FLE?
Options:

o

o

Question Number : 198 Question Id : 723053819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
tan O tan(60° + 8) tan(60° — B) T AT FIT gET?

Options:
« tan 30

% 3tan B

(1) in 36
o s sin

(3)cos30
i v4 Cos

Question Number : 199 Question Id : 723053820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T 2 forges aweT g 87

Options:



% 180°

% 360°

v 57°17'45"

Question Number : 200 Question Id : 723053821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ife x = sin?0 + cos?0, & 0 F T I AT F BT

Options:
x1l<x<3

]l <x<2Zx
w715 = =1

x05<x<15

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Display Number Panel:

Group All Questions:

Subject Related

11
72305341
0

0

No

No

0

20

Subject Related

72305341
1

Online
Mandatory
20

20

20

Yes

No



Sub-Section Number: 1
Sub-Section I1d: 72305359
Question Shuffling Allowed : Yes

Question Number : 201 Question 1d : 723053822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HHTHRIOT tanx+$=2cnsx, S 3aue 0 = x = 2n & g ¢ & wwfag A= &1 gere
Options:

o 2
% 3
% 4

% 1

Question Number : 202 Question Id : 723053823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fordr Brefst ABC # 3§ a+b—3c=0, & cos A + cos B foFaes |=w gem?
Options:

% 3sinC
# 3cosC
s 3(1 —cos C)

« 3cos(A—-B)

Question Number : 203 Question Id : 723053824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg e Mgt ABC & ofiw A & = o5 AfCger AB, WX &9ad & af tan A + 2 tan B & A F41
gem?

Options:
% sin C

# cos C



% tan C

« 0

Question Number : 204 Question Id : 723053825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afe Bl fege &7 & =T SR TEEROT 4x2 — (2V6)x + 1= 0 F # F & HR S 60° F
FI0T 9T & ar g i dradr =T = el

Options:

V3

v 2

®
b | =

% %
ol L

Question Number : 205 Question Id : 723053826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FHE ¥ 3,000 m Hr FAS 9T 33 T UF AAF 3W THT U 3T FHA F FW F99d T
AT §, 9 FHAS W Tw @ g ¥ & RAE & 3ewaa o7 AW 60° 3 45° §) e § T
e & F=aE F=r B2

Options:

%« 100V30 m

« 100v300 m
100
——1

% v30

% 300v10 m

Question Number : 206 Question Id : 723053827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



TH 95 AT F TT A g, SHH FI GEH 95 F UE F 16 m F gl W FHF F TIY HLar g A}
ST F WA 45° FT FIOT FAGT g1 95 P TY TGS F=T §?

Options:

o (4\5—# 1)111
%« 16V2 m
L,42(1+V2)m

g$4(1+‘/E)m

Question Number : 207 Question Id : 723053828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofg A=tan™? G) HT B=tan™?! G), grar

Options:

% sin 2A = cos 2B
% sin2B = cos 2A
% sin4A = cos 2B

« cos 2ZA = sin 4B

Question Number : 208 Question Id : 723053829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

= tan 1 (x) = cos 1 (x), ar Sin(cos_l(x)) T AT FAT g7
Options:

% x 1



Question Number : 209 Question Id : 723053830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg sin '(x) + sin"*(—x) + cos (1 —x) =0, g ar x E gHET Fr +E+:-|__'°¢ HLIT?
Options:

v2x*—5x=0

x2x2—x4+1=20
2 2224+ —2=0

x 2% By 2=10

Question Number : 210 Question Id : 723053831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
o ] ] in 9
afe sin 1 (x) + sin"*(y) +sin"1(2) = = ar ()% + ()19 + (2)199) — ((x}101+{y)1“1+(z}1°1) Hl
ATF &7 gEm?
Options:

® 2

% 3
v 0

# —1

Question Number : 211 Question Id : 723053832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3 tan x—x o
T limy0 5 — FT HfEacT 82 T & o =@ & F1 A= F4@7 e

Options:

b
2| =

b
Wl =



% 1

Question Number : 212 Question Id : 723053833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(1
Z [x(l+ —bsi if x=0 :
AR £y FUFacosn)—bsinx] it x Uk Tdd Bl & ar a HRX b, & FEU: AT F4T g
1 if x=0

Options:

Question Number : 213 Question Id : 723053834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Boral f(x) = (22 — 1)]|x% — 3x + 2| + cos|x| T 3TFaa T ﬁz'g 9T GHT 78T 87

Options:

% x=0
% x=1
S X=2
% x—=—1

Question Number : 214 Question Id : 723053835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

_-l“ 2_2
X & @YY y = = "E:; ) g TEAT ScTeed AT G2
Options:
.




v—X 24+ 6x3%—6x1
x 2?45 % —6x?

O e O TR o

Question Number : 215 Question Id : 723053836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

SEEA I S THT Fo () =x*" M a— )" FRT I RTE T LT AT a F AT x
& AT FIT Em?

Options:

(2m —1)a
w2 +Zn—1

(m—1)a

sm+n—1

(2m+1)a
x2m—2n+1

(m+1)a
sm+n+1

Question Number : 216 Question Id : 723053837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

s g f(0) = x(x — D(x — 2) & e sitaa &= (30 dog) o v e € @ 0 R - & wew
¢ T AT FAT gEM?

Options:

% 1.764

« 0.236

% 0.138

% 0.317



Question Number : 217 Question Id : 723053838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fordlr gea x? + y® = 25 & fow &g (3. — 4) W go=r &)1 g

Options:

% 0.25
# 05
« 0.75

% 1

Question Number : 218 Question Id : 723053839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FTraF y=x(x®+3x+2) S /g W y = 2x- 1 & FFean g, i gfr &= g

Options:

4 %
@le Gl

®
S~

3
% V5

Question Number : 219 Question Id : 723053840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofg f e fg [1. 3] W o waw & AR f 3 x & fo% aafes A= @1 & oar § au
£(2) = 10 @ & f(1.5) & == F=r g m

Options:

® 8



()r@+ e

« 10

% 20

Question Number : 220 Question Id : 723053841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

S f(x,y) =x?+y% + G)—FG) % ITH 'I"E’ig T AT FAT grEm?

Options:
% =l,—1)
s (1D
6).6)
# \3/"\3
x (0.0)
subject Related
Group Number : 12
Group Id : 72305342
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
subject Belated
Section Id : 72305342
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 72305360
Question Shuffling Allowed : Yes

Question Number : 221 Question 1d : 723053842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

drerer y2 = 8x wﬁg#%ﬁﬂ;, SrFE g x—0PF+[y—(-6)* =1 '@'ﬁfl?-m{ﬁ'q%,
T ATF FT grem?

Options:

# (—2, 4)
# (11_2)
o (2,—4)

% (_112)

Question Number : 222 Question 1d : 723053843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T k) 4 g(x) = 0, 5@ k> 0,9(x) = 0 3R g(x) F7 7g=a®7 717 0.5 & 5TF Feqfad
gall T JE fohaetr gref?

Options:

% Tch

o i

Question Number : 223 Question Id : 723053844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

afE f(x) = 2x+ 3%log.(3), T F(x) sEa ismsaa s@ wwR T e F(2)= 7, v x ¥ &w
A & T F(x) sfeqmar (=) 377 & Iioa=sfed HEm?

Options:
8 =3



Er=28

Question Number : 224 Question 1d : 723053845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

oty () = —E sk F(x) st @ aits F(5) =6, & o & F(x) &7 a1 71 @om?

(sin x cosx)

Options:

% 2\tanx + 2
% 2\tanx + 1
% 2\tanx + 3
v2Vtanx + 4

Question Number : 225 Question Id : 723053846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
cosdx—1
[ ———dx T THFIT AT FAT g7

cot x—tanx

Options:

1 i
—inleos(2x)]| — —cos?(2x) + €
v 2 4

o

e

1
2 C0s (4x)+ C

1
5 cos(4x)+ C

%in]cos@x)] +C

®

Question Number : 226 Question Id : 723053847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Sin x
| =—=dx F gaAFFT AT FT FEM?

V1l4tcosx

Options:

5 \@ms(g)+f
5 ﬁcus(g)+f

8 cos (32—6) +£

<

2cos (32—6) +£

Question Number : 227 Question Id : 723053848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
= #@few & f(x) = fsmzxsm ' Vudu 3R g(x) = fms “cosT*Vudu ¥ arf(x) + g(x) @
A1 Fae s3eT gem?

Options:

s
P

= | S

w | S

27
3

®

Question Number : 228 Question Id : 723053849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

o x In(x)

WA [, o535 AX A F;FA

Options:



% 2In(5)
% 5In(2)

« 0

% 13

Question Number : 229 Question Id : 723053850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
3 1

mﬁw(i—:)i—(ﬂ)a—ézﬂ Fr == Far g2

dx
Options:

% 3
% 4

% 2

« B

Question Number : 230 Question Id : 723053851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
av . x4+ 5, {x— .*:]
Haholdd FHRIOT rTi + sin (T}) = sin—2" = & A9 g FAT B2

tan (%)] = C + 2sin G)

X En{tan (g)l = £ = Psinix)

Options:

In
#®

In|tan (g) =(C—2sin (g)

v

In|tan (g) =(C—2sin (E)



Question Number : 231 Question Id : 723053852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

{ET Tk GHRI0T g =1 G—f) T EoT F4T g2
Options:
1
k=4 (—) [2y% + 2y + 1]
& 4
1
x=C€2y+(—)[y2+}'+1]
#* 2
1
¥ =04 (—)[y2 + 2y + 1]
% 4
1
y=Ce *+ (—) [x% + 2x + 1]
® 4
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

mmmj—ize@“@, y(0) = 0 = fafere gor Far gem?
Options:
x 4e3* e 4 =3

g B L%
s 4e3* + 3 =7

% 4e3* + 3¢ =7
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Correct: 1 Wrong: 0.25

Teh NI g aﬁﬁﬁﬁmmmj—y—w ¥ g T &7

x (cx+d)
Options:

. @t a 3R ¢ T



/€ AT 3R a YT A&

« alra 3T ¢, 1

gt =1 G b =72
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mWZysinx(j—i)zsiHZx—yzcosx ﬁi‘ﬂﬁy@) =1 T g FT g7
Options:
¢ X =8Ny

2

« ¥y =14 cosx

& V= SinTx

o ¥:=sinx
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Ifg gHAERIoT %z £)+¢.G) &l U9k 8o y In|Cx| = x #aﬁmﬁmma’rﬂi) raess aeT gem?

Options:
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R (Axb)xZé=dx(bx?) =@, d=20+j+Ak, b=i—j é=4i+puj+2k A sk p =
AT HHA: FIT gar?

Options:

e W
w4, 2
.2 3

1, 4

%
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afr d, b ¥R ¢ SwwRwsE R § &5 |d|=1,1b| = 4,1¢| = 8 3k
de(b+2)=be(+d) =¢e(d+b)=0,a |d+b+¢| & A Far gem?
Options:

v 9

% 7

% 12

% 8
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afeer 2i — j — 2k #r fer #F s @iy Far g

Options:

e i i
L (3) @i+ 2k)
% 3(21+]—2k)

o~

« 921+ —2k)
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Correct: 1 Wrong: 0.25
el g e T wRgwr 5i+j+3k e iR w @ i=Bi+7j+k +t(j+k) FdaHr g
FaT T

Options:
% 4
% 3
B

% 5
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7= BT d v afeT R A@ F Ak b @ ¢ s wRw E
[(@+B)x @+D]x(BxE)}s (B +0) = ammer a=r 22

Options:
2
x 3lal
v 0
e )
x lal
=2
x 2|al
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TaefaT BF & ¥ =7 5 @ @ & FaEa/aear & samar 82
Options:

x1,1,1

i 4 d
sV3'V3'V3

wl,— 1.1

w J 1, —1

Question Number : 242 Question 1d : 723053863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
ofe FT Teer I@r Fdens et & 'Y o, B,y T ST § & cos 2a + cos 23 + cos 2y TFES
ST grem?

Options:

® —2

v — 1



® 2

Question Number : 243 Question Id : 723053864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Wx—2:y+1:zl—22 aﬂme_y_I_Z:S#mﬁg;ﬁrm%’%(—l,—S,—lﬂ)#@-

3 4
&7 Eli‘i ?
Options:

% 2

% 9
% 10

« 13
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fagat P(2, 3, 1) 3R Q(5, 0, 4) Fr e = W@ & 1 : 2 # foenfsm s T Rg o s #r
grem?

Options:

x 3. 1, 3)
J(SJ 2: 2}

% (3.1.1)
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Correct: 1 Wrong: 0.25
B WU FATT 2T ¢ afe
Options:

o« F gAY &

« TF @ 37 T 9T o9ad @



» 3 T g 3t vw @ 3w T Yo TeaT &

. @ TH g & AR @
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w}ﬁ_ x;1:y3—2:z;3 3-ﬁ'{ x—2:y—4:z—5 #mﬁwaﬁ'mw

3 4 5

Options:

1
s 6

2
% 316

% 3v30
% 1366
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mx;rl:y;'lzz: IR ga 3x+y+z="7 & AT & F0T O FAT 27

Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fFfraag 2x -2y +z+12=0 s g @ o x? +y> +22 —2x -4y +22—3=0
F T FIm ¢, FAOEE # @ HiF &7

Options:

v (=1, 4, -2
« (4,1, 2)

x (2, 1, 4)

« (1, 4, 2)
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S e x2 + y% + 22 =25 3 x% + y2 + 2> — 18x — 24y — 402 + 225 = 0 oW F T ¥ &
T I g ar T fag aw §

Options:

« (9.12.20)
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fardr =iver &7 WHERoT & g S e e (2. -3.1) AR (1L - 2. - 1) gt g smea R

cicily
Options:

W X°+ ¥y +2°+3x—5y+7=0



w X2+ y*+22+3x—-5y—-7=0
X2+ y*+2°—3x+5y+7=0

e X°+y* +2°+3x+5y+7=0
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2T (x,f) : (8, 5), (10, 8), (15, 8), (20, 4) =T 3IHT (FFHIATVIAT) AT FT &7

Options:

% 25
% 125
v 128

x 124
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mwﬁ@ﬁﬁaaﬁﬁmﬁﬁwmﬁwﬁaﬁ?wm
Options:

Jmt'ar-aga?ﬁ:z{mw-nﬁ“aa:r]

, T - FICTH = 3[ATET - Tgerh]

| FTET - g = 3[ATCTE - ATey]

%3:11%&3;-35?%:2%'5

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.
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TEaTat 20, 18, 22, 27, 25, 12, 15 $r AfCT=T F47 2ref?
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x 22
« 20
% 19.8

% 19.9
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Single Line Question Option : No Option Orientation : Vertical
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HEOTHT 25, 15, 23, 40, 27, 25, 23, 25, 20 # SgeTeh FT &2
Options:

% 13

% 24.8

« 25

% 24.7
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Correct: 1 Wrong: 0.25
Hrga e (M.D.) 3T A F9aa (S.D.) & AT a7 Y g7

Options:

4 M.D. =3 S.D.

#» 4 MD. =5 5.D.
+5 MD. =4 5D

# 3 M.D. = 4 5.D.
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20 HEITHT @ HEa AT AEE e A 10 3 2 31 = F gAw, g 9ar T4r & e A e
F0F T8 F T F g Uy o1, J MEY T H 12 g IfRT o7 ufE weg " WEr ¥ §eer feuw e
£, ar @gr \rex 3T 3R ATE F=ed wHw F4T gEe

Options:



% 10.11, 1.997

« 10.01, 1.917
« 10.01, 1.097
,10.2, 1.99
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100 3TairraT T e 3T gEmReT FAT: 6.5 3T 3 §1 578 ¥ 55 Tt & dwa 6.6 3k A=
e 1.5 21 5T FH: 99 45 3aaidar 1 3iag 31T A F=ea Aeeaa § ¥ #72r gem?

Options:

« 6.83, 1.78
,6.38, 1.97
« 6.26, 1.89

% .36, 1.91
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weamEt 3, 5, 6, 7, 10, 12, 15, 18 & Wag & Ay ¥ 3w F=ew 3R awe Beea wasn #=1 872

Options:

« 4.1, 45
% 4.15, 4.825
s 4.25, 4875

% 9./5, 2.575
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ofg A 3T B 9NEAiE T ¥ 30T AT ¢ =% P(A) = 0.29 3T P(B) = 043 & @ P(AnB) TrEs

T 872
Options:



% 0.37
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IfE &dr 2 g==7 aTe 9 ER # &7 § FH UF T==7 UF o= & af alar g=4r & o5 gl T THEAT

FT 87
Options:
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T FT H 4 e, 5 A AT 6 A i § T @ mow 7w @ AT K Rt I £ T 3 T
& ST Widear T gEh?

Options:

2
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®
J
J

®
=]
=]
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Single Line Question Option : No Option Orientation : Vertical
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T arem H 20 soifes aoa &, e @ 4 @ §| 50 aiew ¥ Teos ¥ ¥ & 69 g5 I 2
SAH ¥ FF H FH U a0l g, THeh! Wdehcl T 872

Options:

12
% 19

« 19



Question Number : 263 Question Id : 723053884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
muﬁ?ﬁmXWQﬁmaﬁmﬂﬂ={k(?_3T§§;ﬂ F & H fear mar g, & k & A
FaT EEM?

Options:

200

& 3

% 40
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ofg aisdt feRor & dwa 0.5 & & P(x = 3) & P(x = 2) ¥ 3Heqrd 47 grem?

Options:

#1:8
®l:2
»v1:6
x1:4
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Ife Bl Ieeo T X & TR 96c Boid f(x) = kx(2 — x) , 0 < x < 2, SIRT IeAT™T g &
ar ‘k’ =T AT F]T EET?



Options:
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i:\. ﬂ\.
|

0w
0| =
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AT afer Ut WS dser g VS Rfirc 4amaaSr s g Sasr smma 6 81 UNW &
TeTfag HTOTE FIT T

Options:
% D dur 6

w4 Jur 6
w2 dar 3

w1 99T 4

Question Number : 267 Question 1d : 723053888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: 0.25
fodr aeafee aafaa Afeew & Rftre wgaw 76 F 3awT wsaw wfger & §7

Options:
% Foldl

% HATREAT
% Foler

_ 3ireifaterer (amrd)
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HAT A O & §99 H J1F v = (3, 4) € R? frgam 22

Options:

% 9

& D
% 25

% 16
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A= ffew & w={(3,b,0):3,b € R} el == R® & 39wd==7 §, af T=foiea & & =i @
FUT HcF EE?

Options:

x W=0

. W Bfger & I17 a1 IUTAE F 9TH T ¢

« W R? o7 ge599 #gr &
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& B " _
m%ﬁmm—(ﬂ Az),agrAlsﬂTAZﬁﬁﬁwﬁlwﬁﬁqwm,ﬁﬁma@amaﬁ?ﬁz

& & T Hay gem?
Options:

% SEY

% HAT el

% TETHT
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AT sl # & w9 aFex (@) ™9 R® # 3R s34 82

Options:

« (1.2 -1 3R {1, -1, B}
o2 4,-3), 0,1, 1) 3k O, 1, -1)
2 8. 4.0 -0 5 -1tdi 3 211D

« 133 -4 0.4 B3l 390
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AT #itee & TR® & R? § T WW@T R g, o (x,5,2) ER® & forw

T(x,y,z) = (2x +y —2z,3x — 2y + 4z) @Ry af ™ gar g1 ar s9

B={e = (1,1,1),&; = (1,1,0),&5 = (1,0,0)} 3R § = {n; = (1,3),n, = (1,4)} F @
T & #fgag Far gem?

Options:

5
4 [—31 Ejé —3]

w[—gl _5:3[1 g]

3 11 —5]
kil =8 3

—3 116 5
®Lr B 3
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fArATeTaa #§ ¥ i @ Aftew g Bwur aftea & ga= 32



Options:
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A AT f ve o § s T x eR F fBw f(0) = f(1 - x) @l 3 f wh Bt W ey
grar f'(0) foreer aqeY grem?

Options:

x f(0)
« f(1)
x —1(0)
»=F D
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=z+2)"
Mzn1(11]34 ﬂ?mﬁﬁmwﬁ?ﬁ?
Options:
v 4

# —2
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fordr FATe BRsT ABC #F T cos A cos B cos C T HOFdH A F37 72

Options:

3

4

(\ i 4

i
B | =
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ot (FE) f(x,y) = x° + y° — 63(x + y) + 12xy &8 Bg W =g7aq A g F1?
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s (3, 3)
x (—1, 95
% (5, —1)

x (—7,—7)
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I f(2) = (% + axy + by?) + i(cx? + dxy + y?) z 1 T {I99WUTeHsF Bl 21 & a, b, ¢ AT d
T ATA FAT BIET?
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s =2.bhb=—1e=-1.d =4

va=2,b=-1c=-1,d =2

A R P s T R
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Ify et ®or f(x) T BINTT AT F(s) & & Beid f(2x) 7 BN FIaT F#4T gem?
Options:

w Els —2)

4 B2 Els)
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o 2
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ofE ware f(t) 7 Sy F9E —— & ar f(t) FT O frud se g

sis+a)
Options:
% ae
La—emm
w
i 1)
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=T 7 ¥ #iF o #= T8 afeg &1 gaacaFar # g9aa J78r FLar 27

Options:
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_ mEEr HR afRetor AEge ¥ FEw 3t soea & Arens ® 9w A TR e & R
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ST v et wEeiea F gemy Ry & HgEn ve Fle 1 9edd AT g, a 98 A|aTT HgEs
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& 717 Hevor ¥ dree &7 e i ggEe
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T=ofT 7 3 s o sivwe v agonie S 27
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